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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

_l:am_e of the 'Departmental Test for Evaluation and
est: Applied Research Department (Without | 070
Books)
Maximum Time: One Hour ' Maximum Marks: 40

IMPORTANT INSTRUCTI ONS

OBJECTIVE TYPE
QBTG cuens efleT& e

Read the following instructions carefully before beginning to answer the
questions.

NITESEn 56 L welisss Q&L Kigb sy EP&EIL Siffieyenyaanens
SHEUTTLONGL LG H&EELD.

1. This computer based Test contains 40 number of questions in objective
Type.

QBss safal anfg Caijeureng), 40 QBTG cumsuNeonar allarmésmens
CISITetoTL ).

2. Answer all questions. Each question carries one mark
SIS NTTEH8 NS GLD eflenLwefssend  peuQeum, eflenmeyth  ¢p(p
DS 2 L L1g).

3 In case of doubt, English version is the Final.
eTésefled  #nCHs1D QOLUTT SR  aug afieh Q&ETHSSLIUL [Herren
allenéaGen BmFwinerg)

4. Words of masculine gender in these questions shall, where the context so
require, be taken to inciude feminine gender.

Bbs eNemssemsy QL Qummyeier 2L LureSieud geuflsir UM &G Safled
GHemeulivig e, SLONGCHENL  Quedm LmeSlest & & exiifl sot QUTTH 60 & @5 Lh
SIL.RIGLD.

5. Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:
NSGMEMILSNY TN  Seue) alfls Ggialimg eflenLutefsbas QB ML RIGLD
et seNafluflsst  Hamgueo Gamemid  sifleyemyssmen SEUSTLONG L]
Lig &&6)Lh.

a) One question will be displayed on the screen at a time.
@Gy Crisded @ afarm L RCW safafs Heanguled G meimiib.

b) Time available for you to cdmplete the examination will be displayed through
a countdown timer in the top right-hand corner of the screen. It will. display
the remaining time as Time Left. At the beginning of exam, timerﬂju-"show



IBRD was set up in
2 s eundl Campmeidaiiul L ye&H

(A) 1983 (B) 1844

() 1948 G 1944

The demand for labour is
2. enipli gerr CgeveuiLBEmg: 2

(A) effective demand (B) direct demand
> mgF Cseaneu Crirg Ceaneu
derived demand (D) elastic demand
GupuilL Ceeneu Qpdligred Ggeneu

Rank Correlation was found by
&7 ellevdst @airmeéd o (HhaunssLLILg).

(A) Pearson M Spearman
Sl irenesr et QuirGroeir
(C) (Galton (D) Fisher
&6 L6l Gag

The class interval of the continuous grouped data is 10-19 20-29 30-39 40-49 50-59
10-19 20-29 30-39 40-49 50-59 erany Gsmsfwrer Ggr@ssiuc L efeurhseiar Gfey
@en_Qeuafl

Ay 9 ueﬂr 10

(C) 145 (D) 4.5
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5. The Planning Commission of India defined poverty on the basis of
@rdus S sGw ‘q@mmmu_l’ Blger gl uled euamrumsHeTeTg!.
(A) Income
@U(IHLDITEDTLD

(B) Consumption

Bisfey

Calorie intake of food

o aray) Aumar epebGumibd sGendl
(D) Employment

CeueneveumuiLiLy
6. There was plan holiday in India from
Ppdureier S alHipep SafsslulL ST LD
o 1966 - 69 (B) 1961 — 63
(C) 1980 -84 (D) 2002 - 2004

7. The difference between NNP and NDP is

Hey Brl( e pLsdléEd (NNP) fay edmri® zpusdéed Qo-Gu 26rer
Ceaumuini_meng

(A) Depreciation
Cauinmentd
(B) Current transfers from rest of the world
o eflar 90 LGdHsefdirba B LTHOLD
(C) Indirect tax
wen(ps eufl

Net factor income from abroad
Qeualipr@sefelmpbg aund Blanssmrest e

8. Median can be located graphically with the help of
@eo_Heva ieraneu GeseuBID auenyLIL FHGT LpQID HamTddlL. iy ud.

(A) Histogram M)gives

LTeuey GFeueuss LIL LD PeNGE.
(C) Dbar diagram (D) scatter diagram
Ll enL elletésiiuLtb fgpe eflerésliuL b

028/DD/23 4



9.

10.

11.

If cov(x,y) =0then
cov(x,y) = O erariled

(A) xand y are correlated
x wHpD ¥ && e Cw gL Hmey 2 6marg
x is independent of y
x &gpSlrors y b @ré@D
(C) x and y are not linearly related
x, y Cpr Canl (g gy uig G
(D) xandy are linearly related
x, y Cpfit Carl g Cam_fryaLuwig

Utility is a
LTl eTeTLg)

(A) Social concept \Mlncremental satisfaction
FUPS EBSS) sifsfsgo Heos

(C) Political concept (D) Scientific concept
SATHen sndg) Siflelud sbse)

Among the following given Economist, Canons of Taxation are related to whom?
Sparayd QuUIRETTST]  GUOEIBTEHET afl  &Hfluenr  eliflsar,
@ssard $hgeTerT.

K Adam smith (B) Dalton

<L 1D e LITEbL_&iT
(C) Finlay Shiraz (D) Seligman
QWerGev Hymeiv Qeed &G atr
5 028/DD/23
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12.

13.

14.

15.

The Balanced budget means
gw&fi HE Hlenew fléeams

(A) Revenue > Expenditure
auHeUTLl > QFwe)]

(B) Revenue < Expenditure
R < ClFaay

(C) Only Revenue and no Expenditure
ameumll wHmib CFee] @)dane

Revenue and expenditure are equal
aumeumTLLD GEeyhd &LoWLTs @(HEE D

Historical School in Economics were more prevalent in
Qummerrgrrsdler eurmpmits verell eyHawrs @EELug

(A) USA (B) Britain
26 flse pe&dlu prhser @R 16

(Cy Russia M—‘:rmany
@I Qg et

Scientific Socialism propounded by
oifleflwe swgiobd @eaugmed aperdwmflwiinc L g

(A) Dalton Marl Marx

L_ITelL_&bT ST IDTTHE
(C)  Finlay Shiraz (D) Seligman
WerGey Siymeiv Qaedl &G Lo

Death rate is
@ouy eigd
\MNO. of deaths per 1000

1000 Guré@ @puLieui eTdgenen
(B) No. of deaths per 10000

10000 Cu(mdi@ @plineli eadsenar
(C) No. of deaths per 100

100 CLpé@ @pLueul aésenear
(D) No. of deaths per 100000

100000 Gups@ @oUueT erdgener

028/DD/23 6



16.

17.

18.

19.

20.

National Population Policy formulated in the year
Caflu wéser QETanass CEnaTans Bbs aigd HMLESLILLL G

(A) 1991 (B) 2001

W 2000 (D) 2003

Employment assurance scheme introduced in the year
Geuener aumiitiy 2 midls b @Es amged SflipasliuBidslul Lg)

(A) 1995 \Gr"1993

(C) 1997 (D) 1996

Jawahar gram samridhi yojana

saust Syroiym Ceueme eumiliyg Sl ib

(A) 1995 (B) 1993
\V 1999 (D) 1996

What is the important objective of Fifth Five Year Plan?
mbsTd mbsra(hs S Lsdler apsdlu GNaGanar wreney ?
(A) Rapid industrialization

aflenreunen Qg ryled LUIDTHED

(B) Laissez Faire Policy
saneudlmé GQarerans

(C) Equity and Social Justice
Fnggieuld Hmb seps B

\M Garibi Hatao (Removal of poverty)

aumenienwl elLGLITD

New Agricultural price policy was announced in the year
@Qis ey LHw Geuatramenn eflaner@ummer cllenes Gandtens dlelldsliulL g

(A) 1983 @ 1986

(C) 1984 (D) 1987

7 028/DD/23
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21.  Which of the following is called as an important agro-based industry?
Spssrauemaupmet  0&  p&fwnrer  Geuermerewerw  SigliLeLwinss  CeTeur

@gﬁ@@?
Steel (B) Cement
@I 6T SQoer
\M Sugar (ID) dJute
FNEHGHENT FoITED

22.  Credit Reserve Ratio in India in 2023
@ipdwuredia Qrrss iy aisb (C.R.R.) 2023-d
(A) 5.5% percent of total deposits
Qurgg emeuliys Cgransuilas 5.5%
4.5% percent of total deposits
Gwrgg emeuliys Cgrensuiler 4.5%
(C) 7% percent of total deposits
Cwrss @eulilg dsrersuied 7%
(D) 6% percent of total deposits
Guwrss eeuliys Ggraauie 6%

23.  Uruguay Round spanning from
2 (h&Ceu &Hm e1hs Qe Geueliudier parQupms

W7 1986-1993 (B) 1989-1996
(C)  1990-1993 (D) 1996-1999

24.  First Nobel Prize for Economics was awarded
eSS Qurmeansrrgdnans (pgew Cpmud Lufs aprsiulL g

(A) Dalton (B) Marshall
L_ITELL_G8T LDTITE1EL
V Tinbergen and Frisch (D) Karl Marx
g OLIT&ET WHMID oLt el SNIE LDMT&HEY

028/DD/23 8



M

25.  Opportunity cost is nothing but
eumitiLg Gewey erarug Geum germi @dane

(A) Maximum benefit
SFaUlg peenLn
y Next alternative forgone
2Hss flops wIRULL LaTL Mg HETH S0
(C) Laissez faire economy
sanailré Csnearensl QUTHETTSTFH

(D)  Supply, demand and price
ey, Caeneu wHmD eflene

26.  Population increases in a ratio, as explained by Robert Malthus.
wé&ae Qsrens Qaclgsded HHafadng erenm gruil wroge sadluig.
(A) Proportionate meometric
dlsrseny tlgsslen auigelch
(C) Arithmetic (D) Progressive
gl () elilgsde aueTiEsl eligsslen

27. T.R. Malthus published his book “Essay on the Principles of Population” in
.2, T, OTOSE ‘DE&&EET Ggrenad Can_LrG&eT aeam Lsgasms Qeuafluill L e ?
(A) 1896 (B) 1776
() 1857 ™ 1798

28. GNP — Depreciation =

Qs s 2 phusd (GNP) - Csuiwnend

( NNP
(NNP) flag pr G 2-pusdl

(B) Personal income—personal taxes
gafl eumrerd — gefleur

(C) X-M
X-M

(D) Foreign trade excluded
Swopm’ G walg eurarflub Héstul gl

9 028/DD/23
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29.  The ninth Plan did not include in it a objectives

perugreug S Cpnissdle Corssiungg

(A) Quality of life of citizens
Glgnéaaflen aurpsansssThd

(B) Generation of productive employment
2 hugd eumiiydsener QUHEGHS

(C) Regional balance as areas of special importance for State intervention
el LTré swhee yHwuauphle rerag smauilaugdarer Aniy wasdludg e
SiefldaiulLg

M Universal access to Primary education by 2007

20072y amH&GeT GgT_s56 shellsaTar o Q&L H@ISHe

30. Perspective Plan covers a period of
CaneneGrrag Ht sdharar s ojere)

(A) bHyears (B) 10 years
5 =y (pser 10 gy a&rHaer
20 to 25 years (D) 15 years
20 wpsed 25 ya@miHiser 15 gy empser

31. The Mecantilists gave utmost importance to
auafllsaundlas sifs (pasflugged Qarhisss

(A) Agriculture (B) Manufacturing industry
CeusTmatanin 2 Hugds Qgme

( Increasing Export (D) Imports
ghmwHenw isllss @né&@

32. According 2001 Census, the population of India was
2001 wésdar Qgnens sar&Gadly Uy GpSHwuneler waser dgras

(A) 236 million (B) 890 million
236 fevedlwic 890 1fleeSwem

(C) 1000 million #1027 million
1000 1évefluien 1027 Héeflwidn

028/DD/23 10



33.

34.

36.

37.

All poverty alleviation programmes implemented so far have less or no effect due to
EBETET eueny BPOUBHEGSILLL Sdasg eumen @Eling S LrkisEpd cwei e
GurarghE smyemd

(A) Unemployment (B) Joint family system
Ceuanerullemenio sl (& GO bU (penm
( Inequality (D) Corruption
ofulurt gl EHELD

The first Five Year Plan of India was launched in
@idwrefier apgeord mhsTam(s S Bl (peanluhSSULL L AT

(A) 1947 &7 1951

(C) 1956 (D) 1961

A coin is tossed 6 times. Find the number of points in the sample space.

G brewrud 6 ey &L Uihdng erafled samp@eiafluilen 2 drar AwTgg yeeflser.
(A 12 B) 16

(C)y 32 NP it

Simple random sample can be drawn with the help of
grgmyan sweumiiiy widfs saflliGnegs Coemeuwnarg

(A) Slip method (B) Random number table
e FLH peom JUGTL LD GTar Lit" g uled
(C) Calculator MH the above
semtl 1L T Gupaadlu erédeomb

Total area under the normal probability curve is
Queflaow Hapsse eumaGanigea & amwub Corgs ULy

(A) less than one M unity
geenm aili Hbluigy Qe

(C) greater than one (D) zero
parenn &fl Gufiug) LD

Histogram is useful to determine graphically the value of
Lijeued Qeeususu b sTarD cuanyULgdlar epeld @6 Sl seanrsdlLemb.

(A) mean (B) median
syl @an_flena
mode (D) all the above
&k Cupamdlu BenarggLb
11 028/DD/23
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39.  In case of positive skewed distribution, the extreme values lie in the
Cphlan Cami uyeueler, eflaflby wdlliysdr sewpdmLiug)

(A)  Left tail .)B(;ight tail

PL-giLpw CIEY-Nully
(C) Middle (D) any where
BHeA e GL-SEeud

40. Planning in India is
@hdureile Sl BlHsd ereng

(A) Centralized planning j Democratic planning
enwwig &L Ingaerm & Sii.tb

(C) Partial planning (D) Indicative planning
U@d anibe S Lb & gd &l (Hged S Libd

028/DD/23 12
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DEPARTMENTAL EXAMINATIONS
DEPARTMENTAL TEST FOR EVALUATION AND APPLIED RESEARCH
DEPARTMENT

(Without Books) _ _
Maximum Time : 1.30 hours : : . . Maximum Marks : 60

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
Aflaurer e wualéEb was demssrar

Read the following instructions carefully before beginning to answer the questions.
ellarrésenas e wefss Qe k@b ey Spésam_ oifla@ramer seuanons. Uiy dse|b,
1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued. '

. efleni_sanar GPuALGerar cramenlismase SF &S crqgﬁuﬂ@ulﬁ]sirr aﬁlml_g;,srrerﬂsh @gy@uﬁld)
o_envar .9@5 aamenflisansuiorer eflenLaer wALIG Glau.:u.luut_rrg

2.  Incase of doubt, English version is the ﬁnal : ,_
amssahic spGpEA MmN oy hife mlq_aﬁlcb Qarhésuu@erer eammasGar @mduirarng.

Part - I
Out of Ten -questions. answer EIGHT questions : | - (8x3= 24)'
USS) G&dmﬁla;aﬂd: @ Cadreils@néeE ufoafissan : '
1. Write a note on National Population Policy 2000?

Gaflu wéadr Agrenss Qa&rdtens — 20008 upd Gr@gjas

2.  What is a pay-off matrix?
2lefiggew enfll erempred ereiram ?

3. What is discrete probability d18tr1but10n‘?
saflsg Leud ST reTpme) areinan?

4. Distinguish between real wages and money wé.ges.
2 amenod Smalls@Gh, LamsamalaEh e drer Gaipur® wrg ?

5.  Define national income,
- BrL() eumoranb erétueng euanTwDiSsa]tb.

[Turn over



6. Write a note on take-off stage.
Qumgperngry Co@awy Bae (Take Off) arampmed ereiren?

7. | What are the factors determining population growth?
w&seT Ggrens euariéflarw Hlirarulis@b sryemladT eraneu ?
8. What is a rollmg plan?
a@maﬂ S’ eremmed erebTenr?
9.  What is an Human Development Index (HDI)
- weaflg Guwur® GHUG erdatpTd ererer?
'10. What are the forms of capital?
APVSETHSIH GLlq QUBIGET WITana ?
. Part - 11 ‘
Out of Five queStions answer THREE questions : _ (3 x 5 =15)
mibs Cadredsela apamy Caerefls@rsE Lwalssmab ;
1. ‘Write about the disinvestment of public enterprises.
Qumg Fpeuarmsaier LkiE eftossaars upld @GHluCLWES.
2. What are the functions of entrepreneur?
Qgmfer penanGeunflen Lafladr wranes ?
3. Describe the evolution of money.
Lemib elerihs ellgsws eflaul.
4, Explain the featﬁres of perfect competition.
Hevpa|s Curiiguier Guidsmer aflaréseayid.
5. - Explain the need for economic planning.
Qurgparngry L fBselenr seuflugans eileud.
Part - IT1

Out of Five quest'ions answer THREE questions : | | - (Bx7 =21)
g Caarelaaila epery Cadrallsenss udwalssayb : '
1. What is meant by consumer price index number? What are its useS‘?

HisiGeurt elevas GO G ek erammred ereman?  sicubleir uu_leuTassrr?

2..  Examine the functions of central bank.
W eumidlular uallsamer dllatsdluamysse .

3. What.are the basic characteristics of underdeveloped countries?
Yergmdu prpseflar ApriGudysd wramer ?

028/DD/23 | 2



Please prepare a methodology to evaluate the Evaluation Study on “Impact and

outcome of career guidance programme conducted by the department of Employment
. and Training to inmates of the school and college hostels for the year 2018-19 and
- 2019-20”. The required secondary data is as given below. .

Table No. 1.1 Physical and Financial achievement

SI.  Year  No.of 10tk No.of 12th  Total school  No. of college

No. students students students students

1 2018 10,306 10,948 21,254 18,237
19 -

2 - 2019- 10,214 10,418 20,632 19,042
20 ' - , o |

Total 20,520 21,366 41,886 37,279

Table No. 1.1 Physical and Finaﬁcial achievement

- Total No. of classes — No. of claés;es — Total No. of Expenditure
No. of school college classes - (in Rs.)
: 'students . . , ‘
39,491 - 87 76 163 7,98,700
39,674 92 | 79 171 8,37,900
Total 79,165 179 155 334 - 16,36,600

Source: District Backward Classes and Minorities Welfare Offices, coinpiled by
_ | DEAR. - :
2018-19 wHOID 2019-20 b pemgpsTar Ldrel  wHmb  sogrf  HHHselen
reweuisEsE Gaumesaimitiy whpb LHHs Sopurd BLESLLEDL Geueme eumiiliy
afstipse Sl sdar  srasb wpobd  eearey ubHlu  LALSIH e
wgludpeugherar auflapenpeanu swint Geliwab. R :
2L euenent erem: 1.1 Lwermafisafan aramanflsans whpb HIF sngeer .

aflws ear® 10 b euGly 12 eug Qs scgrfl
GT6HuT. T omenTed rserfest o mesreu Tsafl et Lieredl LD IFesT Gu fr g erfl bt
~ aameflsms - oanailsos LD TeRTGU FaET eTe et ens
-1 2018- 10,306 - 10,948 21,264 - 18,237
‘ 19 | - . .
2 - 2019- 10,214 10,418 20,632 19,042
' 20 , ' _
Quomgsid 20,520 21,366 41,886 37,279
3 - . 028/DD/23
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S Laimar ear: 1.1 Lwemeisaidn aearalsms whybd HE érrgmdr

Qurgg UG Satier aglyseiar aElysaiar Qeway
eramenflsans TemaRiisens — aanef&ans — Qurss (e5.uSled)
LDTeRTEL el - uerafl : seogyrifl . aranaiEena :
39,491 87T 76 163 7,98,700
39,674 92 79 171 8,37,900
Qurgsnd 79,165 179 155 334 . - 16,36,600

"%gr‘n;n.b: wral L QpuBssLuGUrt wpgb Apurdabulent po sigamsisdr, 1o Q. &l
% Ggm@EssliulLg. ‘

‘5. Explain features, merits and demerits of socialism.
FOFTSSE LT SE@ETLLD, HDUILS@ETLLD, EaDEMETLLD eflaTé@s.
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